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Y4 The Produet and Quokedt Rules

fix) and g(x) ave funchons
We want b frd He devivke of  fl)- g(x)
“The Produet Rule:

’(‘Fj)/: f’erFﬂ/]_ Memovige

UV“)‘H(V\ a‘{”(/(,wl“j/
Uu:- f(%) y V:j(X)

Same {va. ula

/

dwv) = du v + uw dv
dx dr dx



gp(amg‘e\

’D;Humhm’re

o) xze“

Son. ket J(x)= X' and q(x) ¢ Then
LoAx f(x) j(x)

So ﬂ - 4 ({& 969)
ol x AX

(*) = —f ) j()() + IB(K) j/()() (PYoJutfRuh)

So/ (4(*) -f/(X) = ,? xg,\ (Powev Ru'e)
= A X

(‘k’k*) j/(x) = 2 sz ( Devvahve o{ er;' KCK?

By &), Gx), 1)
d XV - /?xel"er 2"
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by Chlt+)
S, Let f(B)- £ and  g(0) bo (t+).
T a(t4) = P(0) 909,
Hlenc, ;ttgfn(tﬂ) A (p(v) 9(0)
= f/)) g(y) + f(0) g (t) é‘)
(B'odu«m‘ Kule )
Since (1) = E,
P 3t (Pawer Rule)
B sz wWe Know
Now 3“:)‘/ fn(t+9 G_Xﬁ\x” ")()
/\L‘i‘ 'Z = ‘lj»l—‘
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(Q wobent Kule

[t ,f(X) , j(x) be Fwo {demnr.







By (%),
4 (5N 10 g0 = ) g6 [ Dokt
dx x5+ - j(x)'z Rule
= 10x (xg+|) _ Sx©.3x
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Keeall:
f/>0 on an interval = F is “"c”“}"j on That ’irﬂlﬂﬂ/-

/ / 17

f/<o voon = f Z olecwaﬁ'y
& > )2 /S conCave u.’)

//< 0 /) li “u =5 f ]; Con Cove alown

on Thal i “16”‘,

on Thet

[h‘fe rval.

Consider jle :‘:’xl’l

(2
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60&“. Hnd the local minima§ and '0(«/ nma Xima$

of ﬂmc%ons_

[\[Db'(t /h\q‘t
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i P

at  local minimums and local Maximums, the

ALY:V'q’kn ‘F/(‘)) -0.

Bu+/ is it ’h‘uc Thal i{ —f/(,)):‘o al Sowme
P°r"d P, Then P e\OS i be o local Minimam

0¥ ‘max mum ?

Ans. No.  Not TTrue

’f/(f):o 75 P S a Ibcal miniman

or /oa | - maximum.



»\,\1 {(x) - x3

A

f/(X)= gxl (Powu Rule)

ﬁ’(o) 5
{’(0)= 30
=0
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